MPM 1D1 Review of Word Problems

For the problems below, write the appropriate LET statements and the equation. Do NOT solve.

1. Five times a number is the same as the
number decreased by 52. Find the number.

het "a" be  Hhe nuwmbe—
c)—I’\ = n-952

2. To find the length of a certain rectangle you must
triple the width and add 5 metres. If the perimeter
of the rectangle is 74 metres, determine the
dimensions.

Jet """ be the widt
width | lensth
%] l 3;,0 49

a(w.g.’!-,w-ﬁ) - ?'f

3. Jeff has $4.05 made up of nickels and dimes.
If he has seven times as many nickels as

dimes, how many dimes does he have?
le+ ra" be e numbe~ of dimey

ﬁ!'mg) ﬂit.kl.L‘
Aumbe 7 d l 1& .iu IOT = QO‘)’.

lod + 35d = 4ol

4. The sum of two numbers is 95. The larger number
increased by 21 equals the smaller number
increased by 32. Find the numbers.

Ac-"‘ gl be +he Swealle~ Nunna be —
smalle- | laraer
< | Qs -s

q5-5 %2l = s 81

5. The length of a rectangle is 12cm more than
twice the width. The perimeter of the
rectangle is 66cm. Find the length and the
width of the rectangle.

let "o b dhe wiJth
width | lenagth
w | 2w+

2(w+2wt11) =66

6. The sum of two numbers is 45. If 4 times the
smaller number is increased by 3 times the larger
number, the result is 150. Find the numbers.

LC“‘ UPL he the >3l numb—
smq“ e~ | '0(31'#-

a \ 43-9
Ya+ 3(4s-9)=150

7. The sum of two consecutive even integers is
114. What are the integers?
Let n ,n42 be He numbeo
N+ n4) =1y

8. Ron has $21.90 made up of dimes and quarters. If

there are 117 coins in all, how many quarters are
there? (e "V L¢ th numle- of dimes $21;3a

dimes quarhf.) (od +4 )_‘i(ll?- -d) .-.?.lcio mb
Numb s d 7-d
value lod W)

9. A parking meter contained 78 coins made
up on dimes and nickels. The total value of

the coins was $5.20. How many dimes did it
contain? Let &' be th nunabes of dine;

10. Find two consecutive integers such that the larger

minus twice the smalleris -13.
let N, n+l Le He r‘ni-gf/.:

n_{_l_lﬂ ':"'3

dime nicka b §519-52p4
nunnbL s ] 38-d
Valve lod 5(18-d)

lod + $(#9-4) = 520
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